JS o

250F

1250

N P P O L A AV L P A D P A S L P EV £

A lpy pac ’v‘ €09 g0 0! S Lo Sgu el SIS S
aviyis avd4 (o)) gt plal

alp! ool (5590
S35 Sl ke W jl3g
IS Pigel i plojl

(W‘W ,Jl.w_ J.i‘é a&n”b ..\.J'aﬂu.wu)u ‘Suo),é K999 u,.oﬂj

[ (VDY) aS = 2l3E Slgo S S 3 codlige ]

AiBS A+ Rl e I V& 2 Jlaee ai.».:;l

OV g 8 yles g olowi o Jloiel Slge lais

Sl U | djlas 1 | oo Slani el 3o sy
Y. | Y. (lSSN) prnaii g goges o) | )
$ 4 Y Vg dlge owlidiog Ss [ ¥
A # Y & Slge & eSS Jgeo! | ¥
. 1) Y. Mg lgs gands | ¥
\a- 13 Y SN Slge LS a8 g cullag olds |

'““"" 5"?“‘ ‘-‘L“"’Q"‘:'Lﬁ ’| aalaiw! ..))L) “.hn 5}0) a,aji U‘"

Bygn 1 S el onbliin b g ail e e e sl 300 Ll Byl 3 A olondl paled 1 sope 3T (55158 2 3 g (iony SS9 ) iy 5 8 0 T A g 5 ik 3

N P O LA R O P o £ I I o E2 P S E P A B




¥ ancdias 250F (18- a5) pIdé Slge cha J 58 g Caliligy (39030

el (19031 dds 10 Lol jgea s & jods (b3 Jeua Ol jade 10 Lasl § Glakie 730 pos 2ol )5 Llbgls ¥

sitlad g a5 oysas] il Kailler 38 ussisciminin cillogtachylal oo il

.'(Ml) M“, PP ‘_-2_‘2

| PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

I-  Animal welfare science is an emerging field that seeks to answer questions —-----—---- -
by the Keeping and use of animals.

1) raised 2) resolved 3) settled 4) evolved

2-  The low soil fertility problem can be --------==----- by applying the appropriate lime and
organic fertilizers.
1) traced 2) preceded 3) mitigated 4) necessitated

3-  The chef furnished his assistant with very explicit instructions regarding the ——-----eeeeee-
to be used for the new dish.
1) properties 2) aesthetics 3) ceremonies 4) ingredients

4-  The problem of power cut was so important that we decided not to bother about the
other —---eeeeeeeee issues that were not much of a concern at that time.
1) gradual 2) peripheral 3) tranquil 4) lucrative

5-  Everybody knows that Ted is a chronic procrastinator; he -—--- puts off doing his
assignments until the last minute.
1) spontaneously 2) marginally 3) habitually 4) superficially

6- The world's governments have made a joint -----eeeceeeeee to significantly reduce
greenhouse gas emissions by the year 2030.
1) malady 2) determination 3) involvement 4) pledge

7-  Scientists do their best try (0 —==-—emmeemeee themselves from their biases and be objective.
1) detach 2) delete 3) ignore 4) strengthen

8- The local businessman accused the newspaper of defaming him by publishing an article

that said his company was —---—--—- managed.
1) seriously 2) centrally 3) poorly 4) crucially

9-  Landing a plane on an aircraft carrier requires a great deal of --——----—- ---=, 48 YOU can
crash if you miss the landing zone by even a little bit.
1) determination 2) precision 3) rationality 4) consultation

10- New growth of the body’s smallest vessels, for instance, enables cancers to enlarge and
spread and contributes to the blindness that can ----------—--—- diabetes.

1) cause 2) halt 3) identify 4) accompany
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PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Estimates of the number of humans that Earth can sustain have ranged in recent
decades from fewer than a billion to more than a trillion. (11) ——==——eem—— -, since
“carrying capacity” is essentially a subjective term. It makes little sense to talk about
carrying capacity in relationship to humans, (12) -—----—-—--—— and altering both their
culture and their physical environment, (13) ====mmmmemmm- -- can thus defy any formula
(14) ~——mmemmmeee the matter. The number of people that Earth can support depends on
(15) ——mmmmmmmmv -—, on what we want to consume. and on what we regard as a crowd.

11- 1) Itis probably unavoidable that such elasticity
2) Such elasticity is probably unavoidable
3) It is such elasticity probably unavoidable
4) That it is probably unavoidable for such elasticity

12- 1) that adapt their capability 2) whose capability is adapted
3) who are capable of adaptation 4) who are capable of adapting
13- 1) therefore 2) because 3)and 4) next
14- 1) might settle 2) might be settling
3) that might settle 4) which it might settle
15- 1) how we on Earth want to live 2) Earth where we want to live
3) where we want to live in on Earth 4) where do we want to live on Earth

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

The milk secreted into an uninfected cow's udder is sterile. Invariably it becomes
contaminated during milking, cooling and storage, and milk is an excellent medium for
bacteria. Their rapid growth, particularly at high ambient temperatures can cause
marked deterioration, spoiling the milk for liquid consumption or manufacture into
dairy products.
The essential requirements are to maintain udders free from infection (eg. mastitis):
manage cows so that their udders are clean and store the milk in clean containers.
Simple and low-cost husbandry practices enable milk to be produced with a bacterial
count of less than 50,000 per ml.

It is impossible to prevent mastitis infection entirely but by adopting practical
routines it can be kept at low levels. When mastitis is subclinical and although not
readily detected by the stockman. it will not normally raise the bacterial count of herd
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milk above 50,000 per ml. Once the clinical stage is reached, one infected quarter may
result in the milk from the whole herd being unacceptable. It is important to detect
clinical cases and exclude their milk from the bulk.

Foremilking has little effect on the total bacterial count of the milk but is an

effective way of detecting clinical symptoms of mastitis. Filtering or straining the milk
removes visible dirt but not the bacteria in the milk because they pass through the
filter. Aerial contamination of milk by bacteria is insignificant under normal
production conditions.
The milk contact surfaces of milking and cooling equipment are a main source of milk
contamination and frequently the principal cause of consistently high bacterial counts.
Simple. inexpensive cleaning and disinfecting routines can virtually eliminate this
source of contamination.

The word “ambient” in paragraph 1 means ---—--—--,

1) limited 2) proper 3) steady 4) environment
What does low-cost husbandry practices refer to?

1) Preventive practices 2) Bacterial culture

3) Suitable management 4) Clean milk production

As mastitis occurs, all of the following statements are correct EXCEPT ----eeeenee,

1) from initiation, bacterial count raises

2) cows' udders gets inflamed

3) even one contaminated quarter is hazardous

4) milk bulk should be totally eliminated

From the following statements, which one is in contrast with the passage?
1) Milk filtering does not eliminate bacterial contamination.

2) Visible dirt is removed by straining.

3) The first milking does not affect total bacterial count.

4) Airborne bacteria are as hazardous factors.

The most important routes of milk contamination includes all of the following EXCEPT
the ---eeeeee- .

1) inside of the milk tanks

2) milking equipment

3) containers of milk transportation

4) instruments used for milk refrigeration

PASSAGE 2:

Biotin is an important micronutrient widely employed as an enzyme cofactor for biotin
dependent enzymes in all living organisms, therefore, cells that cannot synthesize biotin
de novo must import it from the external environment. However, most cells have
evolved a specific transport protein to facilitate biotin entry into cells. even if they have
the necessary biosynthetic pathways. The best-characterized examples of biotin
transporters now belong to the bacterial family. Although studies on biotin transporters
from organisms outside the bacterial kingdom are also presented. such as the analogous
proteins from yeast, mammals and plants. Biotin dependent enzymes often catalyze
key reactions in important metabolic pathways such as gluconeogenesis, amino acid
metabolism and fatty acid synthesis. For enzymatic activity. biotin must be covalently
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attached to a conserved lysine residue present in the active site of the biotin-dependent
enzyme.

Despite inability of mammals in synthesizing biotin de novo, but efficiently
accumulate biotin from their environment. This is evidenced by congenital abnormality
in humans where defects in biotin transport results in biotin dependency. Severe
deficiency of biotin leads to various clinical abnormalities such as growth retardation,
neurological disorders and skin problems in human patients. Secondly, although many
bacteria and plants are capable of both importing and synthesizing biotin uptake of the
vitamin from the environment is energetically more favorable.

Which of the following statements on the subject of biotin is true?

1) Acting as a cofactor that must be imported just from environment

2) A vitamin being produced or not in the cells of living organisms

3) Micronutrients generated in all cells of living organisms

4) Cells that cannot synthesize biotin de novo themselves

In which group of organisms, the best biotin transporter characteristics could be found?
1) Yeasts 2) Bacteria 3) Mammals 4) Plants

Biotin dependent enzymes act as catalyzers for all of the following items EXCEPT ------,
1) metabolism of amino acids

2) production of glucocorticoids

3) production of fatty acids

4) lysine residues

Which of the following organisms are deprived of capability for synthesizing biotin?

1) Plants 2) Mammals 3) Bacteria 4) Yeasts

Which system(s) would be involved when biotin deficiency occurs?

1) The urinary system

2) The respiratory system

3) Integumentary and nervous systems

4) The digestive system

PASSAGE 3:

A biosensor is an analytical device which converts a biological response into an
electrical signal. The term'biosensor’ is often used to cover sensor devices used in
order to determine the concentration of substances and other parameters of biological
interest even where they do not utilize a biological system directly. Biosensors
function by coupling a biological sensing element with a detector system using a
transducer. The scientifically proposed initiated by electrochemical sensors as well as
commercialized biosensors for multiple analytes. The following statement is also
defined for the biosensor, “A chemical sensing device in which a biologically derived
recognition is coupled to a transducer. to allow the quantitative development of some
complex biochemical parameter.™

The advantages of biosensors include low cost, small size, quick and easy use, as well
as a sensitivity and selectivity greater than the current instruments. Biosensors have
many uses in clinical analysis. general health care monitoring. The most popular
example is glucose oxidase-based sensor used by individuals suffering from diabetes
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to monitor glucose levels in blood. Biosensors have found potential applications in the
industrial processing and monitoring. environmental pollution control. also in
agricultural and food industries. The introduction of suitable biosensors would have

considerable impact in appropriate areas.

Which item was the first scientific proposed biosensor(s) for different analytes?

1) Electrochemical and commercialized biosensors

2) Commercialized biosensors

3) Physicochemical biosensors

4) Electrochemical biosensors

The term “analytes™ refers to which of the following definitions.
1) All elements or parameters that are being analyzed

2) The action of analysis

3) Only elements that would be analyzed

4) Only parameters that are being analyzed

From the first paragraph, which of the following statements could be implied?
'Biosensors' are being used for determination of --—----—--,

1) The amount of biochemical parameters

2) The quality of biochemical parameters

3) Both quantity and quality of biochemical parameters

4) Only commercial parameters

According to the text, which statement is true?

1) Each biosensor should be used in its own field

2) All biosensors could be used in different fields

3) All biosensors are useful in medicine

4) DifTerent sciences could use biosensors

Which of the following titles is more suitable for this passage?
1) Biosensors 2) Application of biosensors in medicine
3) Suitable biosensors 4) Electrochemical sensors
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